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POLITICAL SCIENCE
Paper III

Time Allowed : 2% Hours| | [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.

Each question carries two (2) marks. Attempt all questions,
;. The term ideology was coined by.......cocovevnnn, :
(A)  Daniel Bell (B) Karl Mannheim
(C) Karl Marx (D) Destutt de Tracy
2. Which of the following statements would hold true of political theory ?
(#)  Political theory aims to provide conceptual clarification.

(ii)  Political theory attempts an understanding of existing political

institutions, including weather or not they ought to be changed.

(uz)  Political theory aims to provide us with a wide range of justiﬁcatjﬂns

and arguments,
(v}  Political theory is no different than ideology.

Choose the correct answer :
(A) (i), (ii) and (iv) (B) (i), (ii) and (fv)
(C) (i), (&) and (izD) (D)  All of these

T.B.C.: 1814/ET—III 2 -
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4 Match the following and select the correct answer from the codes given

below :
List I List II
(Ideas) (Thinkers)
(@)  Distinction between Ancient (i) Marx

and modern liberty

(b)  False consciousness (i1) Amartya Sen
(¢}  Capability approach () Kant
(d) Deontology - (fv) Benjamin Constant
Codes :
@  ® (©) (d)
(A) (£ii) (i) (if) (i)
(B) (iv) (i) (i) (#:t)
(C) (£) (i) (iv) ()
(D) (i) (i) (i) ()

4, Who among the following was the first to suggest that politics was a master

science 7
(A) Plato (B) Aristotle
(C) Machiavelli (D)  Hobbes

TB.C.: 1814ET—II 4
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5. Who among the following offered an interpretation of Marxism stressing in
particular the Vanguard role of the party ?

(A) Edward Bernstein (B) Karl Kautsky
(C) Lenin : (D)  Gramsei

6. Which among the following is a. work not authored by Plato ?

(A) City of Gods (B) Statesman
(C) Laws ' (D)  Euthypro
T I'-'Iat-::h.the following and select the correct answer from the codes given
below :
List I . List II
(Works) (Authors)

(@ The Open Society and its Enemies (i) - Sheldon Wolin

(b) The City and Man | (i) Hannah Arendt
(¢) The Human Condition (ifi) Leo Strauss
(d)  Politics and Vision (iv) Karl Popper
Codes :
(a) (b) (e) (d)
(A G W @
(B) (i) (i2) (iv) (iit)
(C) (iv) (iif} (i) (2)
(D) (iv) (i) (i) -2
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8. Which among the following is correct interpretation of Rousseau’s views on
-hun.lan nature ?
(i} In the earliest human society, humans lived peacefully
(i) Originally humans were equal and free heingé

?

(i) Humans were animated by the principles of self-preservation and
pity
ity The evolution of human socicty into modern civilization was

unproblematic
Choose the correet ans;.vcr :
(A) (), Gi) and (ifi) (B) (@), GiD) and (v)
(©) (@), (@) and (o) | (D) All of these
9. Which among the following ig a work not authored by Machiavelli 7
(A)  The Prince (B) The Pelopponesian War
(C}  The Discourses : | (D) The History of Florence

10. Who an{ong the following is not associated with the behavioural revolution

in political science ?
(A) Charles Merriam . (B} John Rawls

(C) David Easton D) Robert Dahl

T.B.C.: 18/14/ET--11I &
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11. Which idea among the following is net integral to Gandhi's political

‘philosophy 7
(A} Sarvodaya (B)  Satyagraha
(C} Swaraj (D) Sampoorna Kranti

12.  Match the following and select the correct answer from the codes given

below :
List 1 List 11
(Thinkers) (Ideas)
(a) .M. N. Roy | (i) Individual Liberty
(b) J. 8. Mill (it)  Statecraft
(¢)  Machiavelli (iti)  Radical Humanism
(d) Gandhi : (fv)  Critique of Western Modernity
Codes :
(a) (b) (c) (ef)
(A) (122) (i) (iL) _{full
(B) (1v) (£) (122) (L)
(C) (i£) (it} (z) (fv)
(D) (iv) (&) (z) (11z)

T.B.C. : 18N4/ET—III 10
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13. Which one of the following is not a feature of ideology ?
(A) a system of values
(B) appeals to beliefs
(C) lays down a framework of action
(D) is always rational

14, Which one of the following does not apply to Aurobindo’s political

thought ?

(A) He was critical of utilitarianism

(B) He was critical of centralizing tendencies under modern capitalism
(C) Spiritual freedom has no relationship with obedience to God

(D)  Believed that spiritual freedom must be attained in order to gain political

and social freedom
15. Who among the following cannot be considered a liberal thinker ?
(A} J. 5. Mill (B) Ronald Dworkin

(C} Isaiah Berlin (D}  Rosa Luxembourg

T.B.C. : 18/14/ET—III 12
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16. Match the following and select the correct answer from the codes given

below ;

(a)

(b)

(d)

List I

(Ideas)

Minimal state
Organic intellectuals

Fopular sovereignty

Codes -

(A)

(B)

(C)

(D)

Alienation
@ O
(it) (iv)
(24E) (L)
(iv) (i)
(iit) (1)

(2)

(ii)

(Zif)

(Ew)

()

(z)

(iv)
(1iL)

(@)

List II

(Thinkers)

Gramsci

Marx

Nozick

Rousseau

17. Who introduced the term ‘Prismatic’ System 7

(A)

(C)

S. N. Eisenstadt

Fred Rigg_ﬁ

TB.C.: 18/14/ET—III
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18. Who popularized the term ‘bureaucratic authoritarianism’ to explain the state

-in Latin America ?
(4)  Guillermo O'Donnell (B) Stephen Krasner
(C)  Phillippe Schmitter - (I David Easton
19. Semi-presidentialism represents a structure, where :
(A)  the President is directly elected, but the Prime Minister is not
(B)  the Prime Minister is directly elected but the President is not

(C}  both the President and Prime Minister are directly elected without any

legislative accountability

(D) both the President and the Prime Minister are directly elected but the

latter is accountable to the legislature
20. Who among the following is not an author of The Federalist Papers ?
(A)  Alexander Hamilton (B) John Jay
(C) Paul H. Appleby (D)  James Madison
21. Rule of law as a constitutional attribute is associated with :
(A}  Ivor Jennings (B) A V. Dicey
(C)  Bertrand Russell (D) Adam Smith

T.B.C. : 1814/ET-III 16
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22.

25.

T.B.C. : 18/14/ET—III 18

() William Riker (D)  Eric Nordlinger

Who among the following has not made a case for separation of powers ?

(A) Henry Sidgwick (B) James Madison
(C) John Locke (D) Montesquieu
Who among the fﬂ]lﬂwiné‘ wrote on a theory of political coalitions ?

(A) Barry Weingast (B) Kenneth Shepsle

The term ‘Consensus democracy’ was popularized by............coocnnns ;
(A) Anthony Arblaster (B) David Held

(C) dJohn Dunn (D)  Arend Lijphart

With whom i.s the notion ‘of iron law of oligarchy associated ?
(A) - Joseph Schun;peter (B) Robert Michels

(C) Gaetano Mosca | (D) Tom Bottomore

Active involvement of people in the ‘input’ functions of the state is

called......cccovemrnnerens :
(A) Secular culture (B) Popular culture
(C) Participant culture (D) Mass culture
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21,

30.

Key elements of political development are :

(A)  Equality (B) Capacity

(C) Differentiation (D) All of these

Consider the following capacities of the modern state :

(£) Regulative capacity

(iz)  Extractive capacity

(i1)  Distributive capacity

Which of these w::a}lld be crucial for inclusive growth of society 7
(A) (i) only (B) () and (i) only

(C) (i) and (iii) only (D) (&) and (itZ) only

According to Pareto the elite holds power in society because it possess certain

attributes or psychological qualities. Which of the following is not a necessary

attribute ?
(A}  Cunning (B) Deceit
(C) Wealth (D}  Decisiveness

Who is the author of Legitimation Crisis 7
(A) J. Habermas (B) Hannah Arendt

(C) Charles Taylor (D) 'Erie Fromm

T.B.C. : 1814/ET—III 20
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31. Who has advanced the three-dimensional view of power ?
(A)  Robert Dahl (B)  Bertrand Russell
| (C) Steven Lukes (D)  Michel Foucault
32. Which of the following phrase is correct for Indian Constitution ?
(A) Quasi-Federal (B} A mixed bag of borrowings
(C) A lawyers' paradise (D) All of these
33. Who was the provisional President of the Constituent Assembly ?
(A) Sachidanani;l Sinha (B) Dr. Rajendra Prasad -

(C) Dr. B. R. Ambedkar (D) Jawaharlal Nehru

34.  Which of the following article/s never get suspended even during national

emergency 7
(@)  Article 20 (#)  Article 21
(i2)  Article 22 : (fv)  Article 32

Choose the correct answer :

(A) (i) only (BY (i) only

(C) (i) and (if) only (D) (i) and (iv) only

T.B.C. : 18N14/ET-III 22
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35.  Chronologically arrange the following freedoms enshrined under Article 1% 1

of the Indian Constitution
(i) Freedom to assemble peacefully
(ii}  Freedom to practice any profession
(i) Freedom of speech and éxpmaiun
()  Freedom to move freely throughout the territory of Ind;a
Choose the correct answer ;
(A} (i), (@), Gv), (i) (B) (i), (id), (1), (iv)
©) ), i), (i), Giv) D) @), ), Go), (i)
36.  Who is the author of the book, The Accidental Prime Minister ?
(A)  Shivaraj Patil (B) Natwar Singh
(C})  Manmohan Singh (D) Sanjay Baru
37.  Which is the smallest joint committee of the Indian Parliament ?
(A)  Library Committee
(B)  Public Accounts Committee
(C)  Committee on Public Undertakings

(D) Committee on Women Empowerment

T.B.C.: 1814ET—III 24
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38.  Which of the following writs bears the meaning, ‘We Command’ ?
(A) Habeas Corpus (B) Mandamus
(C)  Certiorari (D) Quo Warranto

39. Narmada River Project ;is linked to which of the following states ?
({)  Madhya Pradesh (1)  Gujarat
(¢2) Maharashtra (iv)  Andhra Pradesh
Choose the correct answer :
(A) (i), (1), (iii) only (B)  {i) and (ii) only
(C) (i) and (iv) only - (D) (@), (@), (iv) only

40.  Who introduced the term ‘Bullock Capitalists’ ?
(A)  Atul Kohli " (B) Rudolphs
(C}  Partha Chatterjee (D)  Granville Austin

41.  Which Schedule of the Indian Constitution is associated with panchayats ?
(A)  Schedule V (B)  Schedule IX

(C)  Schedule XI | D)  Schedule XII

T.B.C.: 1814/ET—III 26
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42.

43.

44,

45.

Which of the following is not a national party now ?
(A) BSP (B) RJD
(C) NCP (D)  All of these

Bi-party system was introduced at the central level in which of the following

year in India ?
(A) 1967 (BY 1977
(Cy 1989 g (D) 2014

The 2014 elections led to the formation of which one of the following of Lok

Sabha ?
(A) 14th (B) 15th
(C) 16th (D) 17th

Who among the following has never remained Cheif Election Commissioner

of India ?
(A)  Sukumar Sen (B) T. N. Seshan
(C) James M. Lyngdoh (D) Vinod Rai

T.B.C.: 1814ET-III 28
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48. Who introduced the concept ‘Sanskritization’ ?
(A} S.C. Dubey (B) Andre Beteille
(C)  Yogesh Atal . (D) M. N. Srinivas

47. The Politics-Administration dichotomy framework identified the locus of Public

Administration in the institutution of :
{A) Executive/Bureaucracy " (B) Council of Ministers
(C) Legislature | (D) Judiciary
48. Identify major theme/themes of New Public _ﬂdministrat.iﬂn :
(A) Relevance (B) Values
(C)  Social equity (D) All of these
49, Which of the following persons are associated with ‘Scalar Principles’ ?
(A) Gulick and Urwick (B) Taylor and Fayol

(C) Mooney and Reiley (D) None of these
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46.

47.

49,

‘HeFdE’ seune e amy F?

(A) T #H A (B) = W

(C) =rm = ~ D) T T A

TS e 3 A W § B3 R e ven § et e ¥ 2
(a)  =rdofae e (B) wf3-uftsg

(C) | ST ; | (D) =Edfes

T W WA ge wen &) fafm e

(A)  wrEfiEa _ (B) #H

(C) wmites: | M) 3 o

4 9 47 S foga & we6ftm § 2

(A) Tfew &in i (B) & 3 WA

© TR W O o AR
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50. Match the List I with List II and select the correct answer from the codes

given below :

List 1 List 11
(@) Woodrow Wilson ﬁllﬂl- Papers on the Science of Administration
#) W. F. Willoughby i) Towards a New Publie ﬂdﬁinistratiun
(¢)  Gulick and Urwick (ii) ‘The Study of Administration ,

(@) G. H. Frederickson (iv) Principles of Public Administration

Codes

(a) (b) () (d)
(A) -m (i) (iv) (i)
(B) () (iv) (i) (ii)
© @ @) (iv) (i)
®m () (i) (i) (i)

51.  Which of the following thinkers provides a critique of bureaucracy ?
(A) Peter Drucker (B)  Vincent Ostrom

(C) Phillip Selznick " (D) Elton Mayo
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(A) (&)
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(C) (@)
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(i)
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@ -

(it}

(e)

(v)

(@)
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(@)

gt 11

() o o T wEw e wefhfvm
(i) TEEW T 7 veww TSR
(i) < w9 e vefafeem
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(d)
(@)
(z)
(zi)

(2iz)

51 fre § @ s foew AEEE # A Wgd e €2

(A) T H

(C) fofau de9fs
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59 One of the following combinations of Ideas and Administrative thinkers is

incorrect. Identify it .
Ideas Thinkers

(A} Politics and Administration Dichotomy Woodrow Wilson

(B) Functional Foremanship F. W. Taylor
(C) Legal Rational Max Weber
(D)  Elton Ma_yn Gangplank

53. Why did Fredrick Taylor emphasize the need for mental revolution as an

essential requisite of Scientific Management 7

() It called upon the management to equally divide the functions and

responsibilities between managers and workers.

(i)’ Workers were trained, instructed and required to use scientifically
developed tools, standardized methods and practices and increase

production to maximum extent.
Choose the correct answer :
(A) (i) only - (B) (i) only

(C) (i) and (ii) both (D)  Neither (i) nor (i)
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59 frm f @ F¢ wF faen o vt fTens wEem sfae %) S weeie

e feram
(A) TeEfn S wemE fgveE 50 T
(B) IS RRAAEM . | UE. g, oo
(€ = TS H
(D) UEed = | e

53, wEhw 2en 3 dwfe weve & fau wefos wifa & 0 EvEE vE o=
A ?
() T wER # vava on gf el ® men we @R afien & mee T

w "

Giy  afesi =1 aftem, s e St w9 8 fawiem s, s S
A sTErl # WeR 4 IR # fuman @ aw gfg w1 % fem i

T |
wE I g -
(A) = () (B) Haw (ii)
(C) () (D) = (D) 7 (i) ¥ T (i)
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54.

56.

Which of the following Committees was constituted to examine the system

of recruitment to All India Services 7
(A) R. 8. Sarkaria Committee

(B)  Sri Kothari Committee

() Shri Venkatacheliah Committee
(D) A. D. Gorwala Committee

The genesis of Panchayati Raj in India can be traced to which of the

following ?

(i) Lord Rippon Resolution

(i)  Royal Commission of Decentralization

(iii) Report of Montague-Chelmsford

(iv) Report of Balwant Rai Mehta Committee

Chaose the right answer : |

(AY (1) and (ii) only (B) (i), (ii) and (iv) only
(Cy (i), (#ii) and (iv} only (D) (@), (i), Ui and Gov)

Which of the following agencies does not have statutory control over public

expenditure ?

(A) Parliament

(B) Comptroller and Auditor (General
(C) Ministry of Finance

(D) Planning Commission
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54. sfae i das # w6 e % wiew % fag fra | @ e wfafs = e

T w7
A) ¥R TE TR B) & B} o
(C) 4t dwzaen wfuf . (D) W F. TnEren wfbfd

55. WRA H Rl W & Iwfa w fRed fafem W owws § 2
(@) = fm v
@) fad=tEm w1 Taa dEm
(iti) nﬁq—%:efﬁ‘réﬁﬁré

(iv) FFEa T g A o

#Z g wE I I
(A) ®uw () #dwan (B) = (i), (i) 3 (iv)
(C)  =E| (i), (i) 3R (iv) D) (@), (id), (i) N (v)

56. = 8 R} fem widt = weefE = wowifEfas o af § o7
(A) TR
(B) WERTEl TieH
(C) fom wamm
(D) Fre s
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57. The 73rd Constitution Amendment Act, 1992, which aims at promoting
Panchayati Raj Institutions in the country provides for which of the

following ? (Use the code given below)
/)  Constitution of District Planning Committee
(i}  State Election Commission

(iii) Setting up of State Finance Commission

Codes :
(A) (i) only (B) (i) and (i) only
(©) (i) and (iii) only D @), (i) and (D)

58.  Which of the following does not act as a watchdog on Public Administration

and Governmental Functioning ?

(A) Estimates Committee

(B) Committee on Public Undertakings
(C) Committee of Secrecy

(D)  Public Accounts Committee

59. Indian Institute of Public Administration (IIPA) was set up to promote research

in Public Administration in 1954 under the recommendation of :
(A) A. D. Gorwala (B) P. H. Appleby

(C) N. G. Ayyangar (D) K. Hanumanthaiya
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2 & WMom ] R fF 3§ vamd e S # vedfed @ aen 736
Hfgam TEiem, 1992 9 # 9 =% weiad s & 7

()  Ta=n Oren wfufs =1 =9
(@) T TAE AR

Gii)  Tem fawm M W e

@' .
(A)  FEE (D) | (B) .F&d (i) F(ii)
(C)  =ad () TG M) (D), (D) 7 (iif)

AF WITEA it T wmEdel W e i @ #E v faved # w0 ° 1

CEGINE-S
(A) WiEwoA | (B) HHEwMAF 399 HfaW
(C) T gl (D) = e =®EE

9 1954 H o TomER O Ty TR = U 9 @ TEE 9 ® TeA

frm § & feos fowmm W 5 ™ oo 7

(A} W El. TR (B) T TE. Tl

(C) S sEm D) . FEHET
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60.

61.

i¥3

63.

The Central Vigilance Commission was set up on the basis of the

recommendations made by !

(A) First Administrative Reforms Commission
(B} P .H' Appleby Committee

(C)  Santhanam Committee

(D Kothari Committee

Marxist perspectives on International Relations have inspired which of the

following theories ?
(A) Liberal theory of IR (B) Critical theory of IR
(C) Feminist theory of IR (D) Constructivism in IR

Anarchy in International Society is a basic assumption in which of the following

theories 7
(A) Feminism (B) Classical Realism
()  Neo-Realism (D) Post-Modernism

Which of the following instrumenté is/are most important for the promotion

of national interest ?
(A) Diplomacy (B) Coercion

()  Alliances (D) All of these
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61.

62.

63.

F1g Akl AEW 1 TeA fewel fawim w o omn ow 7
(A)  weW WymEfE guUR SEm

(B) . U9. e Wil

(C) w9 HHia

(D) o wfmfa

FRiEg dadl § AedaR gieem 3§ = 4 3 few fogm = i@ fea & 2

(A) e fagE B) s g

(C) EwRt fagm (D) TETHEARE
T wE § R R fogm # 9= A= § 7

(A) iR (B) TIFENE FgidarE

(C) E-gEdEE (D) - ERaER

R S L e T

A) T B) wite

(O D) 3 [t
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64.

65.

66.

67.

Which one of the following waves is not entirely considered to be hased on

Balance of Power ?

(Ay World War I, 1914 (B) World War II, 1939
(C} Cold War, 1945 . (D) Gulf War, 1991
The United Nations deals v;'ith the process of Conflict-Resolution through :
(A) Trusteeship Council

(B)  Security Council

(C)  General Assembly

(D) International Court of Justice

Terrorism in the post-cold 1.lvar is a :

(A) Conventional threat to National Security

(B) Non-conventional threat to National Security

(C) Conventional threat to Human Security

(D)  Non-conventional threat to Global Security

West Bank and Gaza strip are located in a conflict zone of :
(A)  South Asia (B) Middle—East Asia

(Cy West Asia M) South-East Asia
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64. fra % 3 w7z Tf w1 ¥ v g W awfw @ @ ok 2
(A) woH fova I, 1974
(B) o fawa g&, 1939
(Cy ¥ild T&, 1945
(D) @3 gE, 1991
65. ﬁﬁmmﬁﬁﬁmwﬁaﬁa@mm%ﬁﬂm%?
(A) =M g (B) = WREE
(Cy He™Hl ' (D) amf@ﬁw
66, SW-Tags FE 0 FWFAR € T
(A) TSR W @ fau uw geemrE gE
(B) T=m W & fou sroremmra <Ar
(© v g @ fa s g
(D) s @ & fau sremre A
67. o ¥ 3 W = few wed g9 A feem 2
(A)  =feu-ufgra (B) wmea-gd ufymn
(€ frem-ufem (D) sfao-gd o
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65.

70.

71

One of the following is not an arms control treaty. ldentity 1t :
(A) SALT-I (B) START-I

(C) Kyoto Protocol ) (D) NPT

End of Cold ‘iﬁlﬂ'ar signalled a particular erld order, which was !
(A)  Unipolarity | (B) Bipolarity

(C) Multipul.arity # (D) None of these
Economic Globalization is antithetical to....cocorieeen, ;

(A) Civic Nationalism (B) Economic Nationalism
(C) Cultural Nationalism IILD} Sub-nationalism

Which one of the following is not & feature of contemporary international

Political Economy ?
Ay IMF (B) GATT

(C) World Bank Dy TNCs
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69,

70.

A

= 8 & Fre v fdas o T 5 2

(A) Hee-1 (B) w=re-1

(C)  =g- s ' D) ¥ & FE 7

Hﬂfﬂﬁa?ﬁﬁrﬂﬁﬂiﬁ%:

(A) i o=ar = (B) anfds e =

(C) vFfas Usar #i (D) TW-TZErE =
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12,

73.

74.

75,

No first use Nuclear Treaty is the nuclear doctrine o TR :
(A) India (B) Pakistan

(C)  Both Indi.a and Pakistan (D) None of these

India’s Civil-Nuclear Deal with USA will help her achieve :

(A) Environmental Security (B) Energy Security

(C) Food Security (D) National Security

One of India’s very first participations in the UN initiative for peace in 1950
was in |

(A) Somalia | (B) Congo

(C) Korea (D) Kosovo |
The Indian Ocean Rim-Association for Regional Cooperation (IOR-ARC) was

established in 1995 at :
(A) Mumbai (B) Mauritius

(C) Melbourne (D) Durban
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72.  few W w1 v fagl ‘vem wEm RN Wosmfa ¥ 2
(A) uTE (B) wifee
(C) wrw & wisEm : (D) T & &8 &
73. WA W SENE % WY AE-TEN wR R FY 9 @ReE o7
(A) TEEIE e (B) Hl Hem
(C) @ Fum : (D) T G

74. aﬂwsn‘ﬂfﬁ'ﬂﬁamﬁmmﬁﬁﬁrwmﬁwaﬁwﬂmﬁ

@ 7
(A) HmreE (B) =M
©) D) wrEE

75. a6 wEdm SveA-urdig weerr fmoad 1995 d & wafm g ?
(A) T | (B) wivE

(C) HeEH (D) EEA
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